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All questions carry equal marks. 2 marks will be given for each correct answer. Therce is no provisions for Negative
Marking.

5. On the cover page the number of pages is indicated in the Question Booklet. The

examinee should Verify that the requisite number of pages are attached in the Question Booklet,
otherwise he/she should ask for another Question Booklet.
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6. Icad careuly theinstructions given on the Answer Sheet (OMRSheet) supplied and indicate your answers
accordingy.
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INSTRUCTIONS TO THE CANDIDATES
1. This Question Booklet is printed in two languages—Hindi and English. Candidates can select any one of the
two languages accordi ng to their convenience.

2. There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) -
S General Paper on Teaching and Research Aptitude. The second question paper is the subject selected by the
candidate. Only one combined OMR sheet will be provided for both the question papers. The time of
examination of 12 noon to 1:00 p.m. is for Compulsory Paper. Candidate should mark the answer of first
paper in the part of first paper in the O.M.R. Shezt that are Q. No. 1 to 50. The sccond paper of optional
Q subject will be given to the candidate at 1:00 p-m. The candidate has to open it at 1: 05 p.m. The sequence of

these questions are 51 to 150. The Candidate should mark the OMR in order of answers from 1 to 50 for the
firs question paper and answers from 51 to 150 for the second question paper. The candidate himself will be

responsible for marking the answers in the wrong order.
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7. Kindly make necessary entries on the AnswerSheet (OMR Sheet) only at the places indicated and nowhere else.
. Examinee should do all rougb work on the snaces meant for rough work in the pages given in the Question
Sheet).
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rehere 1S any sort of mistake either of printing or of factual nature in any question, then out
of the 1lind1 and English versions of the question, the Hindi version will be treated as standrd.
10. Use of any type of
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3.

Teaching is a............... process.
(A) Tri-polar (B) Bipolar
(C) Unipolar (D) Multipolar

Which of the following are the levels of
teaching ?

(A) Primary level, Secondary level and
Higher level

(B) State level, National level and
International level

- 14€) Memory level, Understanding level
and Reflective level

(D) Teacher level, Student level and
Parent level

Which method of teaching develops
spirit of inquiry in students ?

(A) Project Method

(B~ Heuristic Method

(C) Problem-Solving Method

(D) Laboratory Method

Which of the following DTH channels
are meant to support and reach who do
not have access to the internet ?

(A) Diksha
(B) Swayam Prabha .
(C) Nishtha
(D) Swayam

Which of the following is the be§t
advantage of choice based credit

system ?
(A) Shift in focus from teac_her-centnc
to content-centric education

Providing flexibility for teacher
Improving credibility of students

Shift in focus from teacher-centric
to student-centric education

(B)
©)

P)

P.T.O.
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Which of the following sequence

represent the most logical sequence in

doing research ?

(A) Identifying and defining a research
problem, formulating a hypothesis.

testing of hypothesis and reporting

the result
(B) Identifying a research problem,
defining the population and sample,

collecting data and analysis of data

(C) Survey of research, defining the
research problem, collecting data

and presenting the outcomes

(D) Defining  research variables.
hypothesizing testing of research

and reporting of research outcomes.

A study on the topic “Perception of tribal
people about formal education” comes
under which of the type of research ?

(A) Historical (B) Experimental

(C) Expost facto (D) Ethnographic

SPSS stands for :

(A) Statistical Package for Social
Studies

(B) Statistical Package for Sampling
Studies

(C) Statistical Package for Social
Sciences

(D) Statistical Package for Social
Service
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9. '
Which of the following is the first step

in the research process
(A) Searching sources of information
(B) Survey of related literature

(C) Identification of a broad area of
research

(D) Searching for solution to problem

10. Which of the following is a non-
parametric test ?

(A) Analysis of covariance
'}
\B) Median Test
(C) Analysis of variance

(D) Critical Ratio

Read the following paragraph carefully and
answer question nos. 11 to 15 :

The Visva-Bharti grew out of Shantiniketan
Ashrama formed by Maharshi Devendranath,
the father of poet Rabindranath Tagore, in
1863. The Ashram was meant to be a retreat
where seckers after truth might come and
meditate in peace and seclusion. In 1901 an
experimental school ~ was started  at
Shantiniketan by Rabindranath Tagore with the
object of providing for an education which

would not be divorced from pature, where the
el themselves t0 be members of

a large community and where they could Jearn

and grow in an atmosphere of freedom, MU
1921, Shantiniketan has

versi i Jop a basi
university, seeking to deve '
the cultures of the East and the West may meet

in common followship-:

pupils could fe

p.T.0.
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21.

22.

23.

24.

[n a code language, if ‘BINA’ is coded
as 310152, then how is ‘DELHI’ coded

in the same language ?

(A) 4513910 (B) 5613890

(C) 4612910 (D) 5613910

In a town the ratio of employed and
unemployed persons is 3 : 2. If there are
750 persons in the town, how many
persons are unemployed ?

(A) 350 (B) 300

(C) 450 (D) 250

Which of the following will complete the

letter series given below :

In a class, average age of 15 students and
a teacher is 18 years. If teacher's age is
eliminated then the average age of
students is reduced by one year. Then
how much is the age of the teacher ?

(A) 35 years (B) 32 years

33 years (D) 28 years

P.T.O.
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(A) a-i, b-ii, c-iii, d-v, e-iv »
(B) a-ii, b-i, c-iii, d-iv, e-v
(C) a-i, b-ii, c-iii, d-iv, e-v

(D) a-i, b-iii, c-ii, d-iv, e-v
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25. In a village out of 250 farmers, 28% of
them have taken a crop of sugarcane.
Out of these sugarcane growing farmers,
40% are the members of cooperative
sugar factory. Then how many farmers
are the members of the sugar factory ?

(B) 60

(D) 38

(A) 28
(C) 42
26. Nyaya syllogism employs a formal five-

step argument. Match the items in the

List-I with those in List-II :

List I List IT
(a) There is fire (i) Pratijna
on the hill
(b) Because there (ii) Hetu
is 'smoke on
the hill
[(¢) Whether there (iii) Udaharana
is smoke there
is fire
(d) There is smoke (iv) Upanaya
on the hill
(e) Thus, there is (v) Nigamana

fire on the hill
(A) a-i, b-ii, c-iii, d-v, e-iv
(B) a-ii, b-i, c-iii, d-iv, e-v

Mi, bii, c-ii, d-iv, ey

(D) a-i, b-iii, c-ii, d-iv, e-v
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33.

34.

35.

36.

When mode () is ill-defined, its value

is determined by the formula :
(A) z=2M-X

(B) z=3M+2X

©) z=3M-2X

D) z=3X-2M

(where, M-median and X -mean)

Which of the following is not a source
of secondary data ?

(A) Indirect oral interview

(B) Reports of committees  and
commissions

(C) Publications of International
Institutions

(D) Publications of Research Institutions

If data is classified as 0-10, 10-20,
20-30, the method of this

classification 1s known as :

-------------

(A) Individual Method- (Series)

\)BA(clusive Method (Series)

(C) Inclusive Method (Series)

(D) Discrete Method (Serles)

Which of the following is not 2 search

engine in the internet system ?
(A) Google Apollo

(C) Yahoo (D) Dogpile

P.T.O.
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42.

43’

Consider
regarding
Goals :

®

ﬂsle following ~ statements
Ustainable Development

It contains 2¢ Goals and 180
Targets

(i) It was adopted in New York in
September, 2015

Choose the correct option :

(A) Both (1) and (ii) are correct

(B) Both (1) and (ii) are incorrect

(C) Only (i) is correct

D Culy (i) is correct |,

Which of the following is not covered

under Environment Protection Act,
1986 ?

(A) Eco-sensitive Zone

(B) Wetland
\,(2’)/2(:5 and Parks

(D) Coastal Regulation Zone

Consider the following regarding
Convention on Biological Diversity
(CBD) :
(i) It came into force on 29 December,
1993
(ii) ' India is one of the parties to the
convention.
(iif) India signed the convention in 1996.
(iv) International Biodiversity Day is
celebrated every year on 22 June
Cho e correct option :
) Only (i) and (ii) are correct.
(B) Only (iii) and (iv) are correct.
(C) Only (i) and (iii) are correct.
(D) Only (ii) and (iv) are correct.
P.T.O.
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44. What rank does India hold globally with

respect to net gain in average annual

forest area between year 2010 and 2020 ?

A4¥TEBOP 3it 202 4 3af 4. Whatrank doedndiaholdgloballywith
: A) Second 1 “hird
(A) T B) e eopear ™o net gain i viES, anmal
(C) e ey
. D) (C%orggtué}ga between§lé)ePQ5 11(515nd 20207
45. F=m T (@it = L
aﬁ(A)fa% (5];% )ﬂ S8R | 45. As(ge)r e Sisaptral Elect(B)t)TﬁTfﬁout)
2029-30 % foq e AT &rar (CEA), the combined share of solar and
©) (D), vfqai (C) Fourth (D) Fifth
Td Yaq Fslf i

(A) 40.37 wfgerg
(B) 60.41 9fasmg

(C) 69.37 gfawma .

(A) 40.37sfaa
(D) 51.41 wfasm

~(B) 60.41sfgTa
16 %)fggb’gfrgﬁ 3

(AEIR) = 50 ghvm @ TR B
(D) 51.4lyfayR
faT wgdt-2020 g0 AR A E Ty

O 71 2 2

(A) 2025 (B) 2030-

(C) 2035 (D) 2040
(2)S/00(292813 (B) 2030
(C) 2035 (D) 2040

wind energy in total projected optimal
- mixAbesthed entral| e g9easathority
( A@cmjgﬂ-ﬂéxcggmined share of solar and

BYslengrgyn,fotal projectedptimal

o . P
(&8s sinstalledapacitfor 2029-30s -

40.37per cent
51.41 per tent

(B) 60.4per cent
46. W}C&t)l%glg tproduced by NEP-

2020 tosrfizﬂ%%is Enrollment Ratio

(GER) in Higher Educ

4. Whais thetimeliprodud@ NE
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2020to raise GrOSSﬁnrg(ilmRatio

\_(C , .
“CER Highg RUcHtd 5007

(A) 2025 (B) 2030
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